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w8 met | emg pRen| 2| stk |LEDRRROOR | gans | EDxmRe
3000K 360 Im| 83.7 Im/W
Ra92
2700K 340 Im| 79.0 Im/W
5000K 435 Im| 1011 (m/W
(Tﬁ) 400K, 5\ | 470 435 Im| 1011 Im/W
nas3| 320K 430 Im| 100.0 (m/W
3000K 420 Im| 97.6 \m/W
2700K 400 Im| 93.0 (m/W
2200K 355 Im| 82.5 Im/W
3000K 350 Im| 813 Im/W
Ra92
2700K 325 Im| 755 Im/W
a 5000K 420 Im| 97.6 \m/W
DECO-S|2~100%| s 4000K 420 Im| 97.6 Im/W
K 4 3W|30° 5
35C ggfu% (30°) 483 3500K 30 405 Im| 941 Im/W VA 14000058
ol 3000K 400 Im| 93.0 Im/W
2700K 385 Im| 89.5 Im/W
2200K 340 Im| 79.0 Im/W
3000K 255 Im| 59.3 Im/W
Ra92
2700K 240 Im| 55.8 Im/W
5000K 310 Im| 72.0 Im/W
ﬁmfa 4000K |, 5101 yeol 310 Im| 72.0 Im/W
(50°) Ra83 3500K 300 Im| 69.7 Im/W
3000K 300 Im| 69.7 Im/W
2700K 285 Im| 66.2 \m/W
2200K 255 Im| 59.3 Im/W
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